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Question Number : 1 Question Id : 9593761501 Question Type: MCQ
Correct: 2 Wrong: 1

Dandor word related with

Options:

1. %
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Sarguja
Bastar
Rajnandgaon
Khairagarh

None of the other option

Question Number : 1 Question Id : 9593761501 Question Type: MCQ
Correct: 2 Wrong: 1

gIUER 9feg HEd &-

Options:

R

5%

HLETAT

=

FEAT

AT



, » SREE
. » ¥ wedt H ¥ FS A4

Question Number : 2 Question Id : 9593761502 Question Type: MCQ
Correct: 2 Wrong: 1

Where is Deorani-Jethanmi temple m Chattisgarh situated?
Options:

 » Ratanpur

> % Kanker

%z % Dantewada

4  Talagaon

= » None of the other option

Question Number : 2 Question Id : 9593761502 Question Type: MCQ
Correct: 2 Wrong: 1
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Options:
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Question Number : 3 Question Id : 9593761503 Question Type: MCQ
Correct: 2 Wrong: 1

In which place Ratnakar Jha related as a freedom fighter?
Options:

, w» Raipur

- % Rajnandgaon
- % Bilaspur

4 = Raigarh

=  None of the other option

Question Number : 3 Question Id : 9593761503 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 4 Question Id : 9593761504 Question Type: MCQ
Correct: 2 Wrong: 1

In Surat Congress 1907. who participated as a member of Chattisgarh?
Options:
1 « Pt. Sundarlal Sharma

> % Pt. Ravishankar Shukla
- % Pt Lochan Prasad Pandey

4 % Shri. Narayan Rao Meghawale

c % None of the other option

Question Number : 4 Question Id : 9593761504 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 5 Question Id : 9593761505 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following pair (tribal revolt in Chhattisgarh and leader) is correctly matched?
Options:

, = Bhopalpatnam Revolt 1795 - Kora Majhi

-, % Lingagiri Revolt 1856-57 - Dalganjan Singh

5 % KoiRevolt 1859 - Jugga Dorla

4  Muriya Revolt 1876 - Jhada Sirha

5 % DBastar Revolt 1910 - Dinanath



Question Number : 5 Question Id : 9593761505 Question Type: MCQ
Correct: 2 Wrong: 1
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Options:
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Question Number : 6 Question Id : 9593761506 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the followmng pair (European Traveller in Chhattisgarh and
Maratha Ruler) is correctly matched?

Options:
1 R Forester - Bimbaji Bhonsale

5 ® Colebrooke - Parsojji Bhonsale

» Captain Blunt - Vyanko Ji Bhonsale
4 R Charles grant - Appa Saheb Bhonsale
= % Crawfurd - Purshoji Bhonsale

Question Number : 6 Question Id : 9593761506 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 7 Question Id : 9593761507 Question Type: MCQ
Correct: 2 Wrong: 1



Which of the followmg pair (kalchuri temple. Math and king) 1s not
correctly matched?

Options:
, % FPrithvideveshwar Temple. Tumman - Prithvi Dev I

- % Vishnu Temple. Janjgir - Jajalla Dev I

Shiv Temple. Pali - Prithivi Dev IT

L
%

, % Laxman Temple, Kharod - Ratna Dev —II
= % Dudhadhari Math. Raipur - Jai Singh Dev

Question Number : 7 Question Id : 9593761507 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 8 Question Id : 9593761508 Question Type: MCQ
Correct: 2 Wrong: 1

The highest peak in Chhattisgarh State is
Options:

, % Main pat

5 % Jarang pat

- % Pendra pat

4  Samari pat

c % None of the other option

Question Number : 8 Question Id : 9593761508 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 9 Question Id : 9593761509 Question Type: MCQ
Correct: 2 Wrong: 1

In which of the following hemispheres Chhattisgarh State is situated?
Options:
1 « Northern and Eastern

> % Southern and Eastern
= % Northern and Western
4 % Southern and Western

= » None of the other option

Question Number : 9 Question Id : 9593761509 Question Type: MCQ
Correct: 2 Wrong: 1

ToalE9e =0 FFAfoad § O g e #§ g 22

Options:

l_ysafraﬁtgﬁf
e afarolr siv oo

., » aieyor R ofEesr
. » ¥ wedt H ¥ FS A4

Question Number : 10 Question Id : 9593761510 Question Type: MCQ
Correct: 2 Wrong: 1

Which is the largest in geographical region of Chhattisgarh?
Options:
L ® Sarguja Besin

- % Jashpur Samari Pat region

= « Mahanadi Besin

4 = Dandakaranya region

= % None of the other option

Question Number : 10 Question Id : 9593761510 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 11 Question Id : 9593761511 Question Type: MCQ
Correct: 2 Wrong: 1

The cave of Kutumbsar is in:
Options:

, % Janjgir

» % Raigarh

= « Bastar

4 % Mahasamund

= % None of the other option

Question Number : 11 Question Id : 9593761511 Question Type: MCQ
Correct: 2 Wrong: 1

;:.:.u! THY Eﬁ .::” %_
Options:
1. ® SR
o W {144 E.
RIS
.« ¥ fAFedr A ¥ Fg AG

Question Number : 12 Question Id : 9593761512 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following district is biggest in area?
Options:
, w» Raipur

-  Kondagaon

i

= % DBemetara
4 % Balod

c % None of the other option



Question Number : 12 Question Id : 9593761512 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 13 Question Id : 9593761513 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following districts has the lowest percentage share of scheduled cast
according to census of 20117

Options:

1 ® Kanker

- % Dantewada
- % Narayanpur
4 « DBastar

= % None of the other option

Question Number : 13 Question Id : 9593761513 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 14 Question Id : 9593761514 Question Type: MCQ
Correct: 2 Wrong: 1

‘Which district has lowest literacy in Chhattisgarh State according to the census 20117
Options:
1 % Sukma



> % Narayanpur
» Bijapur
4 % Dantewada

= » None of the other option

Question Number : 14 Question Id : 9593761514 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 15 Question Id : 9593761515 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following award has not been received the Government of Chhattisgarh for
Computerization of public distribution system?

Options:
1 # National E. Governance Award

- % E.India Award
z % C.S. 1 E. Governance Award
4 « C.F.IL E. Governance Award

= » None of the other option

Question Number : 15 Question Id : 9593761515 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 16 Question Id : 9593761516 Question Type: MCQ
Correct: 2 Wrong: 1

What is the Central Government’s contribution in grants to small and marginal farmer’s
lender ‘Shakambhari’ scheme in Chhattisgarh?

Options:
, % 00 percent

5 % 50 percent
5 35 percent
4 % 25 percent
= % None of the other option

Question Number : 16 Question Id : 9593761516 Question Type: MCQ
Correct: 2 Wrong: 1
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Options:
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Question Number : 17 Question Id : 9593761517 Question Type: MCQ
Correct: 2 Wrong: 1

In Which year Chhattisgarh State Forest Development Corporation came into existence?

Options:
, % May 2003

> % June 2002
5 « May 2001
4 % June 2001

= % None of the other option

Question Number : 17 Question Id : 9593761517 Question Type: MCQ
Correct: 2 Wrong: 1
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Options:
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Question Number : 18 Question Id : 9593761518 Question Type: MCQ
Correct: 2 Wrong: 1

Which is not covered under the “National Agricultural Development Scheme™ in
Chhattisgarh State?

Options:

, % Orchard Programme

> % Fruit Diversification
3 « Unconserved Cultivation

, % Fruit Exibition Programme

c % None of the other option

Question Number : 18 Question Id : 9593761518 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 19 Question Id : 9593761519 Question Type: MCQ
Correct: 2 Wrong: 1

In which project division *Surpagandha” medicinal plant is planted in Chhattisgarh State?
Options:
, « Bamavapara-Kawardha

» w Antagarh-Konta

- % Sarguja

4 % Panabaras



c % None of the other option

Question Number : 19 Question Id : 9593761519 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 20 Question Id : 9593761520 Question Type: MCQ
Correct: 2 Wrong: 1

Which is the growth rate of Net State Domestic Product of Chhattisgarh at constant prices
of 2004-05 in the year 2013-147

Options:
| % 5.80 percent

> % .99 percent
- % 431 percent
4 o 2.96 percent
= » None of the other option

Question Number : 20 Question Id : 9593761520 Question Type: MCQ
Correct: 2 Wrong: 1
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Options:
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Question Number : 21 Question Id : 9593761521 Question Type: MCQ
Correct: 2 Wrong: 1



‘What is correct about tendered vote & ballot paper?

X, It is same as any other ballot paper used at the polling
centre.

1. It is 1ssued to blind voters.

ii. It 1s dropped in the ballot box.

1v. It is the last ballot paper issued to the polling centre.

V. It is casting of vote through electronic voting machine.

vi. It is given to the Presiding Officer in his hand.
vil.  If is the technical terminology of postal ballot paper.
viii. In general conditions no need to count it.

Options:

;w1 il iv, viii
5 % 1, iil iv, vi
5 L 1V, Vi, viii
4 % 1V, V, Vil viii

c % None of the other option

Question Number : 21 Question Id : 9593761521 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 22 Question Id : 9593761522 Question Type: MCQ
Correct: 2 Wrong: 1

In which act *‘tenure holder’. Government lessee. ‘land revenue’ and ‘rent’ is defined?

Options:



L1l

b

% Chhattisgarh Land Revenue Code 1956
» Chhattisgarh Land Revenue Code 1959
% Chhattisgarh Land Revenue Code 2000

% Chhattisgarh Land Revenue Code 2004

% None of the other option

Question Number : 22 Question Id : 9593761522 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 23 Question Id : 9593761523 Question Type: MCQ
Correct: 2 Wrong: 1

‘What is corract of the following?

Options:

(1)
(ii)
(i)
(iv)
(v)
(vi)
(vii)

(viii)

20% of Sarpanch who are ex-officio member of Janpad Panchayat can be
member of standing committee of Janpad Panchayat.

20% of Sarpanch who are ex-officio member of Janpad Panchayat cannot be
the member of standing committee of Janpad Panchayat

20% of Sarpanch who are ex-officio member of Janpad Panchayat, their
tenure is one year.

20% of Sarpanch who are ex-officio members of Janpad Panchayat. their
tenure is five years.

20% of Sarpanch who are ex-officio members of Janpad Panchayat can be
given remembership.

20% of Sarpanch who are ex-officio members of Janpad Panchayat cannot be
given remembership.

20% of Sarpanch who are ex-officio members of Janpad Panchayat are
selected by the President of Janpad Panchayat.

20% of Sarpanch who are ex-officio members of Janpad Panchayat are
selected by lottery.

. w L iil, v, vii

> % 1L, 1v, vi, viii



o % 1 iV, ¥, Wi
4 o 1L, il Vi, viii
c % 1 dii, vi, vii

Question Number : 23 Question Id : 9593761523 Question Type: MCQ
Correct: 2 Wrong: 1
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Options:
18 i, dil, v, i
5 g I, dv, i, i

5 % b IV, V, Vil
4 o i, i, Vil
c % Iy dil, vi, i

Question Number : 24 Question Id : 9593761524 Question Type: MCQ
Correct: 2 Wrong: 1
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In Janpad Panchayat or Zila Panchayat except the elected member, who can be a member?

Options:
1 # Nominated member

> « Ex-officio member



5 » Member appointed by Governor
4 % Minority members

c % None of the other option

Question Number : 24 Question Id : 9593761524 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 25 Question Id : 9593761525 Question Type: MCQ
Correct: 2 Wrong: 1

Who said.” If our independence is to reflected the people’s voice, greater the powers to
Panchayats, the better for the people.”™?

Options:
1 « Pt. Jawahar Lal Nehru

- % Lal Bahadur Shastri
- % Mahatma Gandhi
4 w Deendayal Upadhyay

= % Atal Bihari Bajpeyi

Question Number : 25 Question Id : 9593761525 Question Type: MCQ
Correct: 2 Wrong: 1

forger waT “afe gamdr TaTefisTar ST S=iar T 3ETT &r
gfaeafa aam=r & ar g=raar 1 S e 31feew oafea e,
ST & T 3= 2 s3=or g7

Options:

| v T TORER AT 78
mwamﬁ‘i’r

z .
. % HEAT M
4 % ClIgdTel 39TedTy



e x 3ol fagrr sr=odr

Question Number : 26 Question Id : 9593761526 Question Type: MCQ
Correct: 2 Wrong: 1

Which articles of Constitution talks of the formation of Gram Panchayat in the State?

Options:
1 % Article 53

- % Article 51
3 % Article 19
4 « Article 40

c % None of the other option

Question Number : 26 Question Id : 9593761526 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 27 Question Id : 9593761527 Question Type: MCQ

Correct: 2 Wrong: 1

Which district is industrially most developed in Chhattisgarh?
Options:

, w» Raigarh

5 o Durg
- % Raipur
, = Bilaspur

= % None of the other option

Question Number : 27 Question Id : 9593761527 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 28 Question Id : 9593761528 Question Type: MCQ
Correct: 2 Wrong: 1

In which district of Chhattisgarh Catechu Industry is situated?

Options:

1 % DBastar
o o Sarguja

%z % Dantewada

4 % Jashpur

= » None of the other option

Question Number : 28 Question Id : 9593761528 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 29 Question Id : 9593761529 Question Type: MCQ
Correct: 2 Wrong: 1

In dolomite production in 2011-12. What is the rank of Chhattisgarh State in the country?
Options:
1 % Second

> « First
= % Fourth
4 % Third

= % None of the other option

Question Number : 29 Question Id : 9593761529 Question Type: MCQ



Correct: 2 Wrong: 1
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Question Number : 30 Question Id : 9593761530 Question Type: MCQ
Correct: 2 Wrong: 1

In which district the Sikasar Project is situated?
Options:
1 % Mahasamund

> % Dhamtari
z % Kanker
4 % Balod

» None of the other option

Question Number : 30 Question Id : 9593761530 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 31 Question Id : 9593761531 Question Type: MCQ
Correct: 2 Wrong: 1

In which district there 1s no coal deposit?

Options:
1 « DBastar

> % Korba

- % Koria



, = Raigarh

= % None of the other option

Question Number : 31 Question Id : 9593761531 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 32 Question Id : 9593761532 Question Type: MCQ
Correct: 2 Wrong: 1

Which one of the following is not a non-conventional Source of energy?
Options:
, « Nuclear energy

-~ % Solar energy
5 % wind energy
4 % Tidal energy
= % None of the other option

Question Number : 32 Question Id : 9593761532 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 33 Question Id : 9593761533 Question Type: MCQ
Correct: 2 Wrong: 1

Who is the writter of the book “Chhattisgarhi Bhasha Ka Udavikas™?
Options:



1 « Dr. Narendra Dev Varma
- % Dr. Shankar Shesh

- % Dr. Vinay Kumar Pathak
4 % Dr. Bhal Chandra Tailang

= » None of the other option

Question Number : 33 Question Id : 9593761533 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 34 Question Id : 9593761534 Question Type: MCQ
Correct: 2 Wrong: 1

Which is the book written by Rewaram Babu of Ratanpur (Chhattisgarh)?
(1)  Ramashwa Megh
(11)  Vikram Vilas
(111) Gita Madhav Mahakavya
Options:
, % Onlyi

- w Onlyii
5 % Onlyiii
4 « 1 1iandiii

= » None of the other option

Question Number : 34 Question Id : 9593761534 Question Type: MCQ
Correct: 2 Wrong: 1

TR (SedlEee) & AN 919 2@ fof@d J&de i &1 87
i. TTATT A

i. s e

iii. INATHTET AGTRIT
Options:




o % hdol i

5 % ad il

. o 1y il 3Rl

.« ¥ fawedl 7 ¥ Fg A&

Question Number : 35 Question Id : 9593761535 Question Type: MCQ
Correct: 2 Wrong: 1

‘What 1s ‘Dadaria’?
Options:
1 o Love Song

5 % Bhalti Song (Worship Song)
2 % Dance Song

4 w Festival Song

c % None of the other option

Question Number : 35 Question Id : 9593761535 Question Type: MCQ
Correct: 2 Wrong: 1
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Question Number : 36 Question Id : 9593761536 Question Type: MCQ
Correct: 2 Wrong: 1

Where the Bamalai Devi’s temple is located in Chhattisgarh?
Options:

, % Khairagarh

-  Dongargarh

5 » Raipur

4 % Ratanpur

= % None of the other option

Question Number : 36 Question Id : 9593761536 Question Type: MCQ
Correct: 2 Wrong: 1



ToaTHIE H THTS 4T &1 AfeT Far 22

Options:
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Question Number : 37 Question Id : 9593761537 Question Type: MCQ
Correct: 2 Wrong: 1

When is the “Guara Geet” sung?

Options:
1 % Janmastami

> % Ganesh Chaturthi
= % Navratri
4 « Deepawali

= » None of the other option

Question Number : 37 Question Id : 9593761537 Question Type: MCQ
Correct: 2 Wrong: 1

Options:

| # SeHTSESHT

meﬂﬁ
4 ararael
. 3T FFedl H & FIE 740

5

Question Number : 38 Question Id : 9593761538 Question Type: MCQ
Correct: 2 Wrong: 1

Who are the main characters of the Chhattisgarhi Lokgayan (Folk Song) “Foolbasan™?
Options:
1 % Hidimba and Bheem

- % Dropati and Arjun
3 « Sita and Laxman

4 % Lorik and Chanda



c % None of the other option

Question Number : 38 Question Id : 9593761538 Question Type: MCQ
Correct: 2 Wrong: 1

TAlHITE! SR Golaldal” & HET 9T i 872

Options:

|« BfEF AR =
2.*-‘3%#“34%?
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4 % WIReR 3R =TT
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Question Number : 39 Question Id : 9593761539 Question Type: MCQ
Correct: 2 Wrong: 1

Who perform the Panthi Nrityva (Dance) in Chhattisgarh?
Options:

, = Kabir panthi

> o Satnami

z % Tribals

4 % Raut

= % None of the other option

Question Number : 39 Question Id : 9593761539 Question Type: MCQ
Correct: 2 Wrong: 1

Options:

| ® HET T

o  TdATAT

5 » STfEaTEr

4 % 3d

.« ¥ fawedl ¥ Fg AL

Question Number : 40 Question Id : 9593761540 Question Type: MCQ
Correct: 2 Wrong: 1

‘Where is origin of “Mahanadi™?
Options:
, % Rajim



- % Shivri Narayan
» Sihava (Pharsiya)
4 % Mahasamund

= % None of the other option

Question Number : 40 Question Id : 9593761540 Question Type: MCQ
Correct: 2 Wrong: 1

HETET FT 3IH gl 27

Options:
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Question Number : 41 Question Id : 9593761541 Question Type: MCQ
Correct: 2 Wrong: 1

Why the “Jogimara™ is famous?
Options:
, % Sculpture

> % Silk craft
- % Dhokala shilp ( Bell Metal)

4 % Wooden craft

» None of the other option

Question Number : 41 Question Id : 9593761541 Question Type: MCQ
Correct: 2 Wrong: 1

Options:

1 ® ﬂ":ﬁ.m

= % ko fROreT

4 % e R

c » 3T TEeA # ¥ S T

Question Number : 42 Question Id : 9593761542 Question Type: MCQ
Correct: 2 Wrong: 1



What is the meaning of Chhattisgarhi riddle “Ek parra lai, Badar ma Chhariyai™?

Options:
, = Lai(Parched Peddy)

- w Dant (Teeth)

-  Chandaini (stars)
4 % Murra (Parched Rice)

c % None of the other option

Question Number : 42 Question Id : 9593761542 Question Type: MCQ
Correct: 2 Wrong: 1

TodIHITE STAFT "TF I 1S, 9167 AT SHAe” &7 &7 3797 &2
Options:
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Question Number : 43 Question Id : 9593761543 Question Type: MCQ
Correct: 2 Wrong: 1

What is the dialect of “Bhataranat™?
Options:
1 % Halbi

> % Gondi
z % Gadbi

4 % Chhattisgarhi
=  None of the other option

Question Number : 43 Question Id : 9593761543 Question Type: MCQ
Correct: 2 Wrong: 1

“STATATS =Rl STeil 4T 87
Options:

1 ® m

o % TSN

S_QW



c » 3T TEeA # ¥ S T

Question Number : 44 Question Id : 9593761544 Question Type: MCQ
Correct: 2 Wrong: 1

What is the meaning of Chhattisgarhi idiom “Ek langhan. Ek farhar™?
Options:
, « Nichchat Garib (Very poor)

- = Upas (Fast)

- % Eksamay upas (One time fast)
, » Farhar (Diet of fruits only)

= » None of the other option

Question Number : 44 Question Id : 9593761544 Question Type: MCQ
Correct: 2 Wrong: 1

SodrgeTer HETa “Teh ollgel Ush BIgIl’ &l &7 37 272

Options:

| v T=ge 78T (3rema mE)
, « 39TH (394TH)

5 % U HAZ J91H (Ve HHAT 394TH)

4 % PER (FeER)

. x 3T TFedl H ¥ FE AL

Question Number : 45 Question Id : 9593761545 Question Type: MCQ
Correct: 2 Wrong: 1

Who inaugurated “Purkhouti Muktangan™ in naya Raipur?

Options:

, % Smt. Pratibha Devi Singh Patil

> o Dr. AP.J. Abdul Kalam

= % Shri Pranab Mukherjee

4 % Shri K.R Narayanan

c % None of the other option

Question Number : 45 Question Id : 9593761545 Question Type: MCQ
Correct: 2 Wrong: 1

AT TAR H WG AFARA F 3eHe Fdat fomar oar?
Options:

| ST gfoem o Ry wifea
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Question Number : 46 Question Id : 9593761546 Question Type: MCQ
Correct: 2 Wrong: 1

Indira kala sangeet vishwa-vidyalaya khairagarh was named after the following.
Options:
1 % Smt Indira Gandhi

- % IndraNooyi

Rajkumari Indira Devi

L
%

4 % Indira Joshi

= % None of the other option

Question Number : 46 Question Id : 9593761546 Question Type: MCQ
Correct: 2 Wrong: 1

=aaa 7 o & s 17 o "sEr Far w= g
reafaeey” Qe &1 17 w™@r T ar?

Options:

| S SR e

.« ¥ fawedl 7 ¥ Fg A&

Question Number : 47 Question Id : 9593761547 Question Type: MCQ
Correct: 2 Wrong: 1

When the Sardar Vallabh Bhai Patel international Hockey stadium situated at Raipur was
dedicated?

Options:
1 % October 2015

> « November 2015
z % December 2015

4 % January 2016

c % None of the other option



Question Number : 47 Question Id : 9593761547 Question Type: MCQ
Correct: 2 Wrong: 1

TR TIT TER Tooed TS Il FIUSET gl TE2TH &1 SARYUT e

Options:
| 3T 2015
- dgFaT 2015
- » TGHEFT 2015
4 % ST 2016

. x 3T TFedl H ¥ FE A

Question Number : 48 Question Id : 9593761548 Question Type: MCQ
Correct: 2 Wrong: 1
Free computer education programme for school girls students by Chhattisgarh Government
is -
Options:
, w Sarv Shiksha Abhiyan

5 ® Indira Sahara Yojna

- » Padho. Padhabo. School jao Campaign

4 « Chhattisgarh Suchna Shalkti Yojna

c % None of the other option

Question Number : 48 Question Id : 9593761548 Question Type: MCQ
Correct: 2 Wrong: 1

Tl |91 AT TIRT Tl TEIHT g fo:ecar FFegex R arstar z-

Options:

| % TETET HAEE=

o u ST HERT AT

g, TeEr, THe JE A Hae
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.« ¥ fawedl ¥ Fg AL
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Question Number : 49 Question Id : 9593761549 Question Type: MCQ
Correct: 2 Wrong: 1

“Kalpvriksha™ yojna in Chhattisgarh was started to provide employment to:

Options:



1 « Scheduled Tribe women
> % Scheduled Tribe men
%z % Scheduled caste women
4 % Scheduled caste men

= % None of the other option

Question Number : 49 Question Id : 9593761549 Question Type: MCQ
Correct: 2 Wrong: 1

Tedraee H "FHeugel W fhmer AR 39ae S &F 3227 § IR #r
TS 87

Options:

ol HAGIT AT T AGATHT FHT
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z 8 RS 3
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Question Number : 50 Question Id : 9593761550 Question Type: MCQ
Correct: 2 Wrong: 1

Who is the present chairman of Chhattisgarh Rajbhasha Aayog?

Options:
, % Shri Shyam lal Chaturvedi

> % Shri Daneshwar Sharma
» Dr. Vinay Pathak

4, % ShriRajendra Pambhoi
= % None of the other option

Question Number : 50 Question Id : 9593761550 Question Type: MCQ
Correct: 2 Wrong: 1

Tod g9 TAHTNT & TIHIA eTeT & 87

Options:
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- v =1 T ures

L x AN Toles TS




c x 3T EFeA B ¥ S A9

Forensic Chermstry
Mandatory or Optional: Mandatory

Question Number : 51 Question Id : 9593761551 Question Type: MCQ
Correct: 2 Wrong: 1

What is the correct Signal to Noise ratio for Limit of Detection and Limit of Quantitation
respectively?

Options:

1 % 5:1and1:5

> % 10:1and3:1

¢ 3:1and10:1
4 % 1:5and5: 1

s % 1:1land1:1

Question Number : 51 Question Id : 9593761551 Question Type: MCQ
Correct: 2 Wrong: 1

What is the correct Signal to Noise ratio for Limit of Detection and Limit of Quantitation
respectively?

Options:
1 % 5:1and1:5

> % 10:1and3:1
3¢ 3:1and10:1
4 % 1:5and5:1

s % 1:1land1:1

Question Number : 52 Question Id : 9593761552 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following is not a pattern evidence?
Options:
1 # Footwear marks

> % Serial number
z % Tool marks
4 % Tire marks

=  Blood spatter

Question Number : 52 Question Id : 9593761552 Question Type: MCQ



Correct: 2 Wrong: 1
Which of the following is not a pattern evidence?

Options:
1 # Footwear marks

- % Serial number
z % Tool marks
4 % Tire marks

~ Blood spatter

Ln

Question Number : 53 Question Id : 9593761553 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following cannot be used to generate X-ray radiations?
Options:
1 % Radioactive Sources

> « X-Ray tubes
o % Tungsten Lamps
4 % Synchroton Radiation Source

c % Lasers

Question Number : 53 Question Id : 9593761553 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following cannot be used to generate X-ray radiations?
Options:
1 % Radioactive Sources

o  X-Ray tubes
5 % Tungsten Lamps
4 % Synchroton Radiation Source

c % Lasers

Question Number : 54 Question Id : 9593761554 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following essential characteristics of compound is required to record its IR
spectrum?

Options:
, % Its induced dipole moment should be zero

-  lts induced dipole moment should not be zero
- % Its polarization should be constant

4 % It should dissociate into ions

= % It should form conjugates



Question Number : 54 Question Id : 9593761554 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following essential characteristics of compound is required to record its IR
spectrum?

Options:
, w Its induced dipole moment should be zero

-  lts induced dipole moment should not be zero
- % Its polarization should be constant

4 % It should dissociate into ions

= % It should form conjugates

Question Number : 55 Question Id : 9593761555 Question Type: MCQ
Correct: 2 Wrong: 1

Using X-ray Diffraction. we can identify:
Options:

, % Genetic Makeup

5 % Amorphous structure

= % Jonic Structure
4 % Amino Acids

s o Crystalline structure

Question Number : 55 Question Id : 9593761555 Question Type: MCQ
Correct: 2 Wrong: 1

Using X-ray Diffraction. we can identify:
Options:
, % Genetic Makeup

5 % Amorphous structure

= % Jonic Structure
4 % Amino Acids

=  Crystalline structure

Question Number : 56 Question Id : 9593761556 Question Type: MCQ
Correct: 2 Wrong: 1

Psilocybin gives dull orange colour with:
Options:

| « Marquis Test

- % Ehrlich Test

z % Froehdes Test



4 % Meckes Test

5 % Simon’s Test

Question Number : 56 Question Id : 9593761556 Question Type: MCQ
Correct: 2 Wrong: 1

Psilocybin gives dull orange colour with:
Options:
1w Marquis Test

- % Ehrlich Test
% Froehdes Test

% Meckes Test

S S L

% Simon’s Test

Question Number : 57 Question Id : 9593761557 Question Type: MCQ
Correct: 2 Wrong: 1

The alcohol content of denatured spirit is:

Options:
1 ® 08%

> % 99.5%
2 % 99.9%
4 % 42.8%
&

& 95.5%

Question Number : 57 Question Id : 9593761557 Question Type: MCQ
Correct: 2 Wrong: 1

The alcohol content of denatured spirit is:

Options:
1 ® 08%

> % 99.3%
5 % 99.9%
4 % 42.8%
=

& 95.5%

Question Number : 58 Question Id : 9593761558 Question Type: MCQ
Correct: 2 Wrong: 1

Torpex 2 contains:

Options:
; ® PETN+RDX

5 % PETN+TNT

= % TNT + Ammonium Picrate



4 « RDX+TNT
c & INT+ Tetryl

Question Number : 58 Question Id : 9593761558 Question Type: MCQ
Correct: 2 Wrong: 1

Torpex 2 contains:

Options:
; ® PETN+RDX

> ® PETN+TNT
= % TNT + Ammonium Picrate
4 « RDX+TNT
c x INT+ Tetryl

Question Number : 59 Question Id : 9593761559 Question Type: MCQ
Correct: 2 Wrong: 1

The content of Silica in Portland Cement is:
Options:
1 ® 25-32%

5 o 17-25%
5 % 20-28%
4 % 40-48%

c % 56-62%

Question Number : 59 Question Id : 9593761559 Question Type: MCQ
Correct: 2 Wrong: 1

The content of Silica in Portland Cement is:
Options:
1 ® 25-32%

5 o 17-25%
5 % 20-28%
4 % 40-48%

c % 56-62%

Question Number : 60 Question Id : 9593761560 Question Type: MCQ
Correct: 2 Wrong: 1

Cocame forms shaped crystals with lead 1o0dide
Options:
; % Small plates

> % Serated needles

-  Feathery rosettes



4 % Octahedral
5 # Prismatic

Question Number : 60 Question Id : 9593761560 Question Type: MCQ
Correct: 2 Wrong: 1

Cocaine forms shaped crystals with lead iodide
Options:

, % Small plates

- % Serated needles

= Feathery rosettes

4 % Octahedral
s % Prismatic

Question Number : 61 Question Id : 9593761561 Question Type: MCQ
Correct: 2 Wrong: 1

Dithizone forms Scarlet colour with:
Options:
| % Copper

> # Nickel

%z % Chromium
4 % Mercury
5 « Zinc

Question Number : 61 Question Id : 9593761561 Question Type: MCQ
Correct: 2 Wrong: 1

Dithizone forms Scarlet colour with:
Options:
| % Copper

> % Nickel

z % Chromium
4 % Mercury
5 « Zinc

Question Number : 62 Question Id : 9593761562 Question Type: MCQ
Correct: 2 Wrong: 1

Dipicrylamine reagent test is used for the detection of:
Options:
1 « Potassium

5 % Copper

2 % Zinc



4 % Chromium

s % Nickel

Question Number : 62 Question Id : 9593761562 Question Type: MCQ
Correct: 2 Wrong: 1

Dipicrylamine reagent test is used for the detection of:
Options:

1 « Potassium

> % Copper

3 % Zinc

4 % Chromium

s % Nickel

Question Number : 63 Question Id : 9593761563 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following should be used as a blank solution in UV-Vis Spectroscopic
analysis of Phenolphthalein in trap cases?

Options:
1 % Distilled water

o  Ag. Sodium Carbonate Solution

= % Ag. Sodium bicarbonate Solution

4 % Hydrochloric Acid

c % Sodium hydroxide

Question Number : 63 Question Id : 9593761563 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following should be used as a blank solution in UV-Vis Spectroscopic
analysis of Phenolphthalein in trap cases?

Options:
1 % Distilled water

-  AQ. Sodium Carbonate Solution

- % Ag. Sodium bicarbonate Solution

4 % Hydrochloric Acid

= % Sodium hydroxide

Question Number : 64 Question Id : 9593761564 Question Type: MCQ
Correct: 2 Wrong: 1

Kunkel’s Test gives Colour with Carbon Monoxide.
Options:
1 % Brown



> % Cherry Red

4 « Crimson red

= % Orange

Question Number : 64 Question Id : 9593761564 Question Type: MCQ
Correct: 2 Wrong: 1

Kunkel's Test gives Colour with Carbon Monoxide.
Options:
1 ® Brown

> % Cherry Red

4 « Crimson red

E % Orange

Question Number : 65 Question Id : 9593761565 Question Type: MCQ
Correct: 2 Wrong: 1

In Mass spectrometry Heroin. Base peak is at:

Options:
1 % 215
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Question Number : 65 Question Id : 9593761565 Question Type: MCQ
Correct: 2 Wrong: 1

In Mass spectrometry Heroin. Base peak is at:

Options:
, % 215

204
310
5
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Question Number : 66 Question Id : 9593761566 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following can’t detect nile blue dye m a given sample?
Options:
L ® Vis Spectroscopy



> « AES
s % LC-MS
4 ® HPLC

= % Spectrofluorimetry

Question Number : 66 Question Id : 9593761566 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following can’t detect nile blue dye m a given sample?
Options:

L% Vis Spectroscopy
2 « AES

s % LC-MS
4 % HPLC

= % Spectrofluorimetry

Question Number : 67 Question Id : 9593761567 Question Type: MCQ
Correct: 2 Wrong: 1

Strychnous nux-Vomica contains:
Options:
1 % Codeine

- % Buprenorphine

3 « Brucine

.

4 % Mescaline

c x Arginine

Question Number : 67 Question Id : 9593761567 Question Type: MCQ
Correct: 2 Wrong: 1

Strychnous nux-Vomica contains:
Options:
1 % Codeine

- % Buprenorphine

3 « Brucine
4 % Mescaline

= u Arginine

Question Number : 68 Question Id : 9593761568 Question Type: MCQ
Correct: 2 Wrong: 1

Ethylene glycol is metabolized to:
Options:
1 « Formic Acid and Oxalic Acid



- % Oxalic Acid and Malonic Acid
- % Malonic Acid and Glycolic Acid

4 % Malic Acid and Formic Acid

5 % Malonic Acid and Malic Acid

Question Number : 68 Question Id : 9593761568 Question Type: MCQ
Correct: 2 Wrong: 1

Ethylene glycol is metabolized to:
Options:

1 +« Formic Acid and Oxalic Acid
> % Oxalic Acid and Malonic Acid

- % Malonic Acid and Glycolic Acid

4 % Malic Acid and Formic Acid

c % Malonic Acid and Malic Acid

Question Number : 69 Question Id : 9593761569 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following is a designer drug?
Options:

;1 % LSD

> % Heroine

- % Amphetamine

4+ v MDMA

c % Cocaine

Question Number : 69 Question Id : 9593761569 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following is a designer drug?
Options:

;1 % LSD

> % Heroine

- % Amphetamine

4 v MDMA

c % Cocaine

Question Number : 70 Question Id : 9593761570 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the followmg 1s a potent hallocmogen?
Options:
, % Opium



- % Cocaine
- % Lorazepam
4 % Caffeine

& o LSD

Question Number : 70 Question Id : 9593761570 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the followmg is a potent hallocmogen?
Options:

; % Opium

> % Cocaine

- w Lorazepam

4 % Caffeine

c ¢ LSD

Question Number : 71 Question Id : 9593761571 Question Type: MCQ
Correct: 2 Wrong: 1

Methanol is detected by:

Options:
1 % Kries Test

> % Meckes Test
-  Chromotropic Acid Test
4 % Kunkel’s test

c % Simon test

Question Number : 71 Question Id : 9593761571 Question Type: MCQ
Correct: 2 Wrong: 1

Methanol is detected by:
Options:

1 % Kries Test

- % Meckes Test

-  Chromotropic Acid Test
4 % Kunkel’s test

5 # Simon test

Question Number : 72 Question Id : 9593761572 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following gases causes poisoning on mgestion of metal
phosphide?

Options:



1 ® CO

« Phosgene

1]

% Arsine

x DS

-

Question Number : 72 Question Id : 9593761572 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following gases causes poisoning on mgestion of metal
phosphide?

Options:
1 ® cCO

- w Phosgene

4 % Arsine

EQHES

Question Number : 73 Question Id : 9593761573 Question Type: MCQ
Correct: 2 Wrong: 1

Prussian Blue test is used for analysis of:
Options:
1 % Sulfate

- % Dichromate
- % Sulphide
4  Cyanide

5 % Chromate

Question Number : 73 Question Id : 9593761573 Question Type: MCQ
Correct: 2 Wrong: 1

Prussian Blue test is used for analysis of:
Options:
1 % Sulfate

> % Dichromate

- % Sulphide
4  Cyanide

% Chromate

Question Number : 74 Question Id : 9593761574 Question Type: MCQ
Correct: 2 Wrong: 1



Which of the following Shaped Crystals are observed m Iodoform
Test?
Options:
, « Hexagonal

~ w Octagonal

% % Tetrahedron
4 % Prismatic

s % Needle

Question Number : 74 Question Id : 9593761574 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following Shaped Crystals are observed m Iodoform
Test?
Options:
, « Hexagonal

» % Octagonal
% % Tetrahedron
4 % Prismatic

c % Needle

Question Number : 75 Question Id : 9593761575 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following is not an organophosphorus msecticides?
Options:
1 % Parathion

- % Dichlorous
2 « DDT

, % Phosphamidon

5 # Chlorthion

Question Number : 75 Question Id : 9593761575 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following is not an organophosphorus msecticides?
Options:
1 % Parathion

> % Dichlorous
« DDT

L]

% Phosphamidon

MY

s Chlorthion

'



Question Number : 76 Question Id : 9593761576 Question Type: MCQ
Correct: 2 Wrong: 1

Baygon is
Options:
, » Organophosphorus

-~ % Organochlorine

- » Organosulphate

4 % Pyrethroid

5 « Carbamate

Question Number : 76 Question Id : 9593761576 Question Type: MCQ
Correct: 2 Wrong: 1

Baygon is

Options:

, w Organophosphorus
- % Organochlorine

- % Organosulphate

4 = Pyrethroid

5 « Carbamate

Question Number : 77 Question Id : 9593761577 Question Type: MCQ
Correct: 2 Wrong: 1

Velocity of detonation for high explosives is:
Options:
1 % Less than 500m/s

> « More than 1000m/s

= % DBetween 500 and 700 m/s
4 % DBetween 700 and 800 m/s
% DBetween 800 and 900m/s

Question Number : 77 Question Id : 9593761577 Question Type: MCQ
Correct: 2 Wrong: 1

Velocity of detonation for high explosives is:
Options:
1 % Less than 500m/s

> « More than 1000m/s
3 % DBetween 500 and 700 m/s
4 % Between 700 and 800 m/s



c % Between 800 and 900m/s

Question Number : 78 Question Id : 9593761578 Question Type: MCQ
Correct: 2 Wrong: 1

Commeon name of HMX:
Options:

| % Hexogen
- % Picric Acid
5 » Keiselguhr
4  Octogen

c &% Semtex

Question Number : 78 Question Id : 9593761578 Question Type: MCQ
Correct: 2 Wrong: 1

Coimmeon name of HMX:
Options:
| % Hexogen

- % Picric Acid

- # Keiselguhr

4 Octogen

c % Semtex

Question Number : 79 Question Id : 9593761579 Question Type: MCQ
Correct: 2 Wrong: 1

Brucine reagent is used to differentiate :
Options:

i & INT from Nitroglycerine
> # NG from NC

= % RDX from NG

4 % RDX from PETN

c % PETN from NG

Question Number : 79 Question Id : 9593761579 Question Type: MCQ
Correct: 2 Wrong: 1

Brucine reagent is used to differentiate :
Options:

, « INT from Nitroglycerine

> % NG from NC
= % RDX from NG



4 % RDX from PETN
c % PETN from NG

Question Number : 80 Question Id : 9593761580 Question Type: MCQ
Correct: 2 Wrong: 1

Greiss reagent test can distinguish from RDX,

Options:
; % PETN

> % HMX
3.« TNI

4 w Tetryl

= % TATP

Question Number : 80 Question Id : 9593761580 Question Type: MCQ
Correct: 2 Wrong: 1

Greiss reagent test can distinguish from RDX,

Options:
; % PETN

5 % HMX
3_@1-"" TNT

4 w Tetryl

= % TATP

Question Number : 81 Question Id : 9593761581 Question Type: MCQ
Correct: 2 Wrong: 1

Density of Kerosene at 15°C 1s:
Options:
, = 350-650Kg/m’

, % 710-770 Kg/m’
. % 850-890 Kg/m®
4 % 810-850 Kg/nr’

» 780-820 Kg/m®

Question Number : 81 Question Id : 9593761581 Question Type: MCQ
Correct: 2 Wrong: 1

Density of Kerosene at 15°C 1s:
Options:
, = 550-650Kg/m’



, % 710-770 Kg/m’
. % 850-890 Kg/m’
i n 810-850 Kgm’

- » 780-820 Kg/m®

Question Number : 82 Question Id : 9593761582 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following dyes is present in petrol?
Options:

1 # Nile Blue

> u Crystal Violet

- « Phenyl azo-2-naphthol

4 = Anthraquinone

= % Crystal Orange

Question Number : 82 Question Id : 9593761582 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following dyes is present in petrol?
Options:
1 % Nile Blue

» % Crystal Violet

=  Phenyl azo-2-naphthol
, % Anthraquinone

= » Crystal Orange

Question Number : 83 Question Id : 9593761583 Question Type: MCQ
Correct: 2 Wrong: 1

The most common solvent system for the TLC analysis of petroleum products 1s:

Options:
1 « Hexane: Toluene: Acetic Acid

- % Chloroform: Methanol
= % Hexane : Acetone
4 % Methanol: Ammonia

= u Butanol: Ethyl Acetate

Question Number : 83 Question Id : 9593761583 Question Type: MCQ
Correct: 2 Wrong: 1

The most common solvent system for the TLC analysis of petroleum products is:



Options:

1 « Hexane: Toluene: Acetic Acid
- % Chloroform: Methanol

= % Hexane : Acetone

4 % Methanol: Ammonia

e ® Butanol: Ethyl Acetate

Question Number : 84 Question Id : 9593761584 Question Type: MCQ
Correct: 2 Wrong: 1

The most common technique used for the analysis of fire debris samples is:

Options:
1 B IR

> « GC-MS
s % LC-MS

4 % UV-Vis spectrophotometry

Question Number : 84 Question Id : 9593761584 Question Type: MCQ
Correct: 2 Wrong: 1

The most common technique used for the analysis of fire debris samples is:

Options:

1. % IR

> o GC-MS
z % LC-MS
4 % UV-Vis spectrophotometry
s ¥ NMR

Question Number : 85 Question Id : 9593761585 Question Type: MCQ
Correct: 2 Wrong: 1

The concentration of Thebaine in opinum is:

Options:
1 ®% 3.1-19.2%

> % 0.7-6.6%
2 % 1.4-15.8%
4 « 0.2-10.6%
c % 0.1-0.3%

Question Number : 85 Question Id : 9593761585 Question Type: MCQ
Correct: 2 Wrong: 1

The concentration of Thebaine in opium is:

Options:



| % 3.1-19.2%
% 0.7-6.6%
% 1.4-15.8%
@ 0.2-10.6%
% 0.1-0.3%

7, S R

Question Number : 86 Question Id : 9593761586 Question Type: MCQ
Correct: 2 Wrong: 1

Distillation is performed to determine

Options:
, w Polarity

> % Additives

o % Miscibility

4 % Dye components
=  Volatility

Question Number : 86 Question Id : 9593761586 Question Type: MCQ
Correct: 2 Wrong: 1

Distillation is performed to determine

Options:

1% Polarity

> % Additives

5 % Miscibility

4 % Dye components

c  Volatility

Question Number : 87 Question Id : 9593761587 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following is most sensitive technique to isolate ignitable liquids from
different substrates?

Options:

1 % Solvent extraction

> % Steam Distillation

= « SPME

4 % SPE

s # Fractional Distillation

Question Number : 87 Question Id : 9593761587 Question Type: MCQ
Correct: 2 Wrong: 1



Which of the following is most sensitive technique to isolate ignitable liquids from
different substrates?
Options:

1 % Solvent extraction

- % Steam Distillation
= « SPME
4 % SPE

5 # Fractional Distillation

Question Number : 88 Question Id : 9593761588 Question Type: MCQ
Correct: 2 Wrong: 1

‘What is the hydrocarbon range of diesel?

Options:
| « C18-C28

> % C8-C12
5 % C4-C12
4 % C5-C8

s % C10-C12

Question Number : 88 Question Id : 9593761588 Question Type: MCQ
Correct: 2 Wrong: 1

What is the hydrocarbon range of diesel?

Options:
1« C18-C28

5 % ‘CB-C12
s % C4-C12
i % 'C5-°C8

= % C10-C12

Question Number : 89 Question Id : 9593761589 Question Type: MCQ
Correct: 2 Wrong: 1

Pristane and Phythane are characteristic components of

Options:
1 % Petrol

> o Diesel
3 % Bitumen
4 % Kerosene

c % Wax

Question Number : 89 Question Id : 9593761589 Question Type: MCQ
Correct: 2 Wrong: 1



Pristane and Phythane are characteristic components of

Options:

1 % Petrol
> o Diesel

3 % Bitumen
4 % Kerosene
c % Wax

Question Number : 90 Question Id : 9593761590 Question Type: MCQ
Correct: 2 Wrong: 1

SPME worlks on the phenomenon of

Options:
, % Sorption

> % Absorption
=z % Diffusion
4  Adsorption

5 % Partition

Question Number : 90 Question Id : 9593761590 Question Type: MCQ
Correct: 2 Wrong: 1

SPME works on the phenomenon of

Options:
, = Sorption

> % Absorption
= % Diffusion
4 w Adsorption

c % Partition

Question Number : 91 Question Id : 9593761591 Question Type: MCQ
Correct: 2 Wrong: 1

Most important step of fire debris analysis is

Options:
, % Interpretation

- % Separation
- % Reporting
4 % Identification

=  Sample Preparation

Question Number : 91 Question Id : 9593761591 Question Type: MCQ



Correct: 2 Wrong: 1
Most important step of fire debris analysis is

Options:
, w Inferpretation

-~ % Separation
- = Reporting
4 % Identification

=  Sample Preparation

Question Number : 92 Question Id : 9593761592 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following techniques cannot ehminate mterference
caused by matrix m identification of ignitable liquids m fire debris?

Options:

|« YV spectroscopy

> % GC-MS
s % GCXGC

4 % GC-MS-MS
= % GCXxGC-MS

Question Number : 92 Question Id : 9593761592 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following techniques cannot ehminate mterference
caused by matrix m identification of ignitable liquids m fire debris?

Options:

1 o UV spectroscopy
- #% GC-MS

= # GCxGC

4 % GC-MS-MS
= # GCxGC-MS

Question Number : 93 Question Id : 9593761593 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following methods cannot be used to detect Zinc in toxicological samples?
Options:

. w» Group analysis

- % Electro dialysis

- % Paper chromatography

4 ¢ GC



= % lon Chromatography

Question Number : 93 Question Id : 9593761593 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following methods cannot be used to detect Zinc in toxicological samples?
Options:
, % Group analysis

- w Electro dialysis
- w Paper chromatography
4 o GC

= % lon Chromatography

Question Number : 94 Question Id : 9593761594 Question Type: MCQ
Correct: 2 Wrong: 1

Efficiency of extraction process is determined by

Options:

, » Migration constant

> % Coefficient of variation
z « Distribution coefficient
4 % Planck’s constant

c % Wilks constant

Question Number : 94 Question Id : 9593761594 Question Type: MCQ
Correct: 2 Wrong: 1

Efficiency of extraction process is determined by

Options:

, % Migration constant

-  Coefficient of variation
= « Distribution coefficient
4 % Planck’s constant

c % Wilks constant

Question Number : 95 Question Id : 9593761595 Question Type: MCQ
Correct: 2 Wrong: 1

Vaccum distillation is used for extraction of

Options:
1 % Metals

-  Thermally labile volatile compounds

- % Non polar compounds



4 % Polar compounds

= % [Ihermally stable compounds

Question Number : 95 Question Id : 9593761595 Question Type: MCQ
Correct: 2 Wrong: 1

Vaccum distillation is used for extraction of

Options:
1 % Metals

- « Thermally labile volatile compounds

- % Non polar compounds

4 % Polar compounds

= % [Ihermally stable compounds

Question Number : 96 Question Id : 9593761596 Question Type: MCQ
Correct: 2 Wrong: 1

Cannabis is a
Options:
1 % Stimulant

5 % Depressant
- w Antidepressant
4 % Narcotic

=  Hallucinogen

Question Number : 96 Question Id : 9593761596 Question Type: MCQ
Correct: 2 Wrong: 1

Cannabis is a
Options:
1 % Stimulant

5 % Depressant
- % Antidepressant
4 % Narcotic

=  Hallucinogen

Question Number : 97 Question Id : 9593761597 Question Type: MCQ
Correct: 2 Wrong: 1

Strychnine affects the :
Options:
1 % Heart

- « Spinal Cord



o % Lungs
4 % Brain
c » Kidney

Question Number : 97 Question Id : 9593761597 Question Type: MCQ
Correct: 2 Wrong: 1

Strychnme affects the
Options:

1 % Heart

o « Spinal Cord

5 % Lungs

4 % Brain

= » Kidney

Question Number : 98 Question Id : 9593761598 Question Type: MCQ
Correct: 2 Wrong: 1

Hyoscine is an active component of

Options:
1 « Dhatura

5 R Strychnous Nux Vomica
= % Monk’s Hood

4 w Abrus precatorius

c % Croton

Question Number : 98 Question Id : 9593761598 Question Type: MCQ
Correct: 2 Wrong: 1

Hyoscine is an active component of

Options:
1 +« Dhatura

- % Strychnous Nux Vomica

=z % Monk’s Hood
4 w Abrus precatorius

c % Croton

Question Number : 99 Question Id : 9593761599 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following components differentiate between natural and synthetic cannabis
samples?

Options:

; % THC and CBN



-~ % THC and CBD
= « CBD and CBN
4 % THC and cannabinolic acid

¢ % CBN and cannabinolic acid

Question Number : 99 Question Id : 9593761599 Question Type: MCQ
Correct: 2 Wrong: 1

Which of the following components differentiate between natural and synthetic cannabis
samples?

Options:
; # THC and CBN

> % THC and CBD
= « CBD and CBN
4 % THC and cannabinolic acid

£ % CBN and cannabinolic acid

Question Number : 100 Question Id : 9593761600 Question Type: MCQ
Correct: 2 Wrong: 1

TNT when reacted with Potassiun hydroxide (KOH) n ethanol gives?
Options:
,  Orange colour

-  Purple Colour

= % Violet Colour
4 % Yellow Colour

5 % White Colour

Question Number : 100 Question Id ;: 9593761600 Question Type: MCQ
Correct: 2 Wrong: 1

TNT when reacted with Potassmum hydroxide (KOH) m ethanol gives?
Options:
, w Orange colour

-  Purple Colour
=z % Violet Colour
4 % Yellow Colour

c % White Colour

Forensic Toxicology
Mandatory or Optional: Mandatory



Question Number : 101 Question Id : 9593761601 Question Type: MCQ
Correct: 2 Wrong: 2

Atropine is used as Antidote in the treatment of this poisoning:
Options:
| « Organo Phosphate

> % Arsenic
% #% Dhatura
4 % Cannabis

5 % Ptomines

Question Number : 101 Question Id ;: 9593761601 Question Type: MCQ
Correct: 2 Wrong: 2

Atropine is used as Antidote in the treatment of this poisoning:
Options:

, « Organo Phosphate

> % Arsenic

% % Dhatura
4 % Cannabis

c % Ptomines

Question Number : 102 Question Id : 9593761602 Question Type: MCQ
Correct: 2 Wrong: 2

Which Human Bone helps in more accurate determination of sex?
Options:

1 # Tibia

-~ % Hamate

% Thorasic Vertebrae

A

 Hip Bone

e

&% Sacrum

Ln

Question Number : 102 Question Id : 9593761602 Question Type: MCQ
Correct: 2 Wrong: 2

Which Human Bone helps m more accurate determination of sex?
Options:

; % Tibia

-~ % Hamate

= % Thorasic Vertebrae



4  Hip Bone

c % Sacrum

Question Number : 103 Question Id : 9593761603 Question Type: MCQ
Correct : 2 Wrong: 2

Which poison can be detected in Forensic science laboratory from Hair / Bone, long after

the death?
Options:
. # Mercury

> o Arsenic

% Antimony Sulphate
% Lead

e

% Aconite

tn

Question Number : 103 Question Id : 9593761603 Question Type: MCQ
Correct: 2 Wrong: 2

Which poison can be detected in Forensic science laboratory from Hair / Bone, long after

the death?
Options:
. % Mercury

- o Arsenic

% Antimony Sulphate
% Lead

4

# Aconite

tn

Question Number : 104 Question Id : 9593761604 Question Type: MCQ
Correct: 2 Wrong: 2

Hatter's shakes are seen in:
Options:

, % LeadPoisoning

-  Mercury Poisoning

% Cyanide Poisoning
« Copper Poisoning

% Chlorine Poisoning

Question Number : 104 Question Id : 9593761604 Question Type: MCQ
Correct: 2 Wrong: 2

Hatter's shakes are seen in:
Options:
, » Lead Poisoning



o  Mercury Poisoning
- % Cyanide Poisoning
4 % Copper Poisoning

= % Chlorine Poisoning

Question Number : 105 Question Id : 9593761605 Question Type: MCQ
Correct : 2 Wrong: 2

'Phossy jaw’ is seen in chronic poisoning with

Options:
1 % Arsenic

-  Phosphorous

3 % Lead
~w Copper

% Digitalis

s

Question Number : 105 Question Id : 9593761605 Question Type: MCQ
Correct: 2 Wrong: 2

'Phossy jaw’ is seen in chronic poisoning with ;
Options:
1 #% Arsenic

~ Phosphorous

2

# Lead

A

« Copper

% Digitalis

Question Number : 106 Question Id : 9593761606 Question Type: MCQ
Correct: 2 Wrong: 2

Toxalbumin ‘Ricin’ is obtained from:
Options:
1 « Castor Seed

- % Croton Seed
% Canthridine

% Cannabis

ML e T

% Carbamates

Question Number : 106 Question Id : 9593761606 Question Type: MCQ
Correct: 2 Wrong: 2

Toxalbumin ‘Ricin’ is obtained from:
Options:



1 « Castor Seed
> % Croton Seed
z % Canthridine
4 % Cannabis

5 % Carbamates

Question Number : 107 Question Id : 9593761607 Question Type: MCQ
Correct: 2 Wrong: 2

‘Sui’ is being Prepared by Decoction of:
Options:
1 « Abrus Precatorious

-~ % Styrchnous Nux Vomica
- % Marking Nut
4 % Oleander

c % Atfropa Belladona

Question Number : 107 Question Id : 9593761607 Question Type: MCQ
Correct: 2 Wrong: 2

‘Sui’ is being Prepared by Decoction of:
Options:
1 « Abrus Precatorious

-~ % Styrchnous Nux Vomica
- % Marking Nut
4 % Oleander

Atropa Belladona

il
®

Question Number : 108 Question Id : 9593761608 Question Type: MCQ
Correct : 2 Wrong: 2

Cholinesterase is seen in venom of which group of poisonous snakes?

Options:
1 % Red Sand Boa

5 % VIpers
%z % Sea Snakes
4 % Non Poisonous Snakes

c  Elapids

Question Number : 108 Question Id : 9593761608 Question Type: MCQ
Correct: 2 Wrong: 2

Cholinesterase is seen in venom of which group of poisonous snakes?



Options:

1 % Red Sand Boa

> % VIDers

3 % Sea Snakes

4 % Non Poisonous Snakes

c  Elapids

Question Number : 109 Question Id : 9593761609 Question Type: MCQ
Correct: 2 Wrong: 2

Antidote for Opium Poisoning:
Options:
, » Afropine

- « Naloxone
- % Amyile Nitrite
4 % Neostigmine

= % Physostigmine

Question Number : 109 Question Id : 9593761609 Question Type: MCQ
Correct : 2 Wrong: 2

Antidote for Opium Poisoning:
Options:

, % Afropine

> « Naloxone

- % Amyile Nitrite

4 % Neostigmine

= % Physostigmine

Question Number : 110 Question Id : 9593761610 Question Type: MCQ
Correct: 2 Wrong: 2

Marquis test is done for:
Options:

, % Mercury Poisoning

- % Cyanide Poisoning

- % Phosphorous Poisoning
4  Morphine poisoning

= % Dhatura Poisoning

Question Number : 110 Question Id : 9593761610 Question Type: MCQ



Correct: 2 Wrong: 2
Marquis test is done for:

Options:

, % Mercury Poisoning

o ® Cyanide Poisoning

- w Phosphorous Poisoning
4 « Morphine poisoning

= % Dhatura Poisoning

Question Number : 111 Question Id ;: 9593761611 Question Type: MCQ
Correct: 2 Wrong: 2

What level of Alcohol in Blood is considered as driving under the influence in India?
Options:
;% Z 40 mg%o

5 % = 50 mgo
5 % = 100 mgo
4 % =z 200 mg2%o
= =30 mg%

Question Number : 111 Question Id : 9593761611 Question Type: MCQ
Correct: 2 Wrong: 2

What level of Alcohol in Blood is considered as driving under the influence in India?

Options:
| % =40 mgo

o % = 50 mg%
- % =100 mg
4 % =200 mg%
= of = 30 mg

Question Number : 112 Question Id : 9593761612 Question Type: MCQ
Correct: 2 Wrong: 2

Antidote in Methanol Poisoning:

Options:
; % EDTA

- « Ethanol
z # Acetic Acid
4 % Sulphuric Acid

5 # Paracetamol



Question Number : 112 Question Id : 9593761612 Question Type: MCQ
Correct: 2 Wrong: 2

Antidote in Methanol Poisoning:

Options:
, ® EDTA

- « Ethanol
z # Acetic Acid
4 % Sulphuric Acid

5 # Paracetamol

Question Number : 113 Question Id : 9593761613 Question Type: MCQ
Correct: 2 Wrong: 2

Highest level of Tetrahydrocannabinol (THC) is seen in what preparation of Cannabis?
Options:
, % Majun

-~ % Bhang

5 % Charas
4 = Ganja

5 « Hash Oil

Question Number : 113 Question Id : 9593761613 Question Type: MCQ
Correct: 2 Wrong: 2

Highest level of Tetrahydrocannabinol (THC) is seen in what preparation of Cannabis?
Options:
, % Majun

» % Bhang

%z % Charas
4 = Ganja

c « Hash Oil

Question Number : 114 Question Id : 9593761614 Question Type: MCQ
Correct : 2 Wrong: 2

Magnan’s Sign is seen with :
Options:
| « Cocaine Poisoning

5 ® Alcohol Poisoning

5 % Aconite Poisoning

, % Carbamate Poisoning



c % Snake Bite

Question Number : 114 Question 1d : 9593761614 Question Type: MCQ
Correct: 2 Wrong: 2

Magnan’s Sign is seen with :
Options:

1. W Cocaine Polsoning

-~ % Alcohol Poisoning

- % Aconite Poisoning

4 = Carbamate Poisoning

5 # Snake Bite

Question Number : 115 Question Id : 9593761615 Question Type: MCQ
Correct: 2 Wrong: 2

Bitter almond smell is positive in which poisoning?
Options:
1 % Oxalic acid

-  Hydrocyanic acid poisoning

% Sulphuric acid

L1l

4 % Alcohol

% Chloral hydrate Poisoning

n

Question Number : 115 Question Id : 9593761615 Question Type: MCQ
Correct: 2 Wrong: 2

Bitter almond smell is positive in which poisoning?
Options:
1 % Oxalic acid

-  Hydrocyanic acid poisoning

% Sulphuric acid

L]

4 % Alcohol

% Chloral hydrate Poisoning

Question Number : 116 Question Id : 9593761616 Question Type: MCQ
Correct : 2 Wrong: 2

In Luminol test. luminol reacts with hydrogen salt and forms:
Options:
1 « Di Anion

- % Cation

= % Onion



4 % Anion

% Photon

Question Number : 116 Question Id ;: 9593761616 Question Type: MCQ
Correct: 2 Wrong: 2

In Luminol test. luminol reacts with hydrogen salt and forms:
Options:
1 + DiAnion

% Cation

% Omnion

. B

% Anion

c % Photon

Question Number : 117 Question Id : 9593761617 Question Type: MCQ
Correct : 2 Wrong: 2

Seminal Stains in Fluorescence Test gives:
Options:

1 % Pink color

- % Brown color

= % Green color

4 % Red Color

c « Blue color

Question Number : 117 Question Id : 9593761617 Question Type: MCQ
Correct: 2 Wrong: 2

Seminal Stains in Fluorescence Test gives:
Options:

1 % Pink color

> % Brown color

z % Green color

4 % Red Color

5 « Blue color

Question Number : 118 Question Id : 9593761618 Question Type: MCQ
Correct: 2 Wrong: 2

The act of stalking an indrvidual through Electronic means is called as:
Options:

, % Cyber Hacking

-  Cyber stalking

- % Cyber Phising



4 % Cyber chatting

= % Cyber Fishing

Question Number : 118 Question Id : 9593761618 Question Type: MCQ
Correct: 2 Wrong: 2

The act of stalking an indrvidual through Electronic means is called as:
Options:

, % Cyber Hacking

- « Cyber stalking

- % Cyber Phising

4 # Cyber chatting

= % Cyber Fishing

Question Number : 119 Question Id : 9593761619 Question Type: MCQ
Correct: 2 Wrong: 2

In wildhife forensics. identification of animals is done by the help of:
Options:

1 % Voice

> % Feathers

5  Pug Marks

4 % Beak Marks

5 % Color of Feathers

Question Number : 119 Question Id : 9593761619 Question Type: MCQ
Correct: 2 Wrong: 2

In wildlife forensics. identification of anmmals is done by the help of
Options:

1 % Voice

> % Feathers

-  PugMarks

4 % Beak Marks

c % Color of Feathers

Question Number : 120 Question Id : 9593761620 Question Type: MCQ
Correct : 2 Wrong: 2

Beer’s and Lambert Law is the basic principle in:
Options:
, % ThinLayer Chromatography

> % HPTLC



2 % HPLC

4 ® Neutron Activation Analysis

=  Spectrophotometry

Question Number : 120 Question Id : 9593761620 Question Type: MCQ
Correct: 2 Wrong: 2

Beer’s and Lambert Law is the basic principle in:
Options:

, w ThinLayer Chromatography

> % HPTLC

z ® HPLC

, % Neutron Activation Analysis

c Spectrophotometry

Question Number : 121 Question Id : 9593761621 Question Type: MCQ
Correct: 2 Wrong: 2

Vaginal epithelial Cells on Male genitalia can be detected by:
Options:

, « lugoliodine test

> % Vitalis Test

- % Marqui’s Test

4 % Reinsch’s Test

c % Alkaline Beam Test

Question Number : 121 Question Id : 9593761621 Question Type: MCQ
Correct: 2 Wrong: 2

Vaginal epithelial Cells on Male genitalia can be detected by:
Options:

, « lugoliodine test
> % Vitalis Test

- w Marqui’s Test
4 % Reinsch’s Test

c % Alkaline Beam Test

Question Number : 122 Question Id : 9593761622 Question Type: MCQ
Correct : 2 Wrong: 2

Minimum age to be a witness in the court of law is:
Options:
1 #® 06 Years



~ % 11 Years
=z % 15 Years
4 % 18 Years
E o No Age Bar

Question Number : 122 Question Id : 9593761622 Question Type: MCQ
Correct: 2 Wrong: 2

Minimum age to be a witness in the court of law is:
Options:
1 ®% 06 Years

> % 11 Years
=z % 15 Years
# 18 Years

o No Age Bar

Question Number : 123 Question Id : 9593761623 Question Type: MCQ
Correct: 2 Wrong: 2

Illegal Trafficking of animals is called as:

Options:
1 % Abduction

> % Adduction

-  Poaching
4 % Smuggling

c » Kidnapping

Question Number : 123 Question Id : 9593761623 Question Type: MCQ
Correct: 2 Wrong: 2

Illegal Trafficking of animals is called as:

Options:
1 % Abduction

> % Adduction
-  Poaching

4 % Smuggling
c » Kidnapping

Question Number : 124 Question Id : 9593761624 Question Type: MCQ
Correct: 2 Wrong: 2

Electrophoresis Technique is used to:
Options:



» Separate the molecules
- % Separate the Diatoms
- % Separate the Anion

4 % Separate the Cation

= % Separate the DNA

Question Number : 124 Question Id : 9593761624 Question Type: MCQ
Correct : 2 Wrong: 2

Electrophoresis Technique is used to:
Options:
| « Separate the molecules

- w Separate the Diatoms
3 % Separate the Anion
4, % Separate the Cation
c w oSeparate the DNA

Question Number : 125 Question Id : 9593761625 Question Type: MCQ
Correct: 2 Wrong: 2

Microscope in which image is formed due to passing of electron beam through a specimen
and focusing the scattered electrons with magnetic lenses is called:

Options:
% Scanning Electron Microscope

1
5 % Florescence Microscopy

- » Phase contrast Microscope

i o Transmission Electron Microscope
= » Polarizing Microscope

Question Number : 125 Question Id ;: 9593761625 Question Type: MCQ
Correct: 2 Wrong: 2

Microscope in which image is formed due to passing of electron beam through a specimen
and focusing the scattered electrons with magnetic lenses is called:

Options:
, % Scanning Electron Microscope

- u Florescence Microscopy
- % Phase contrast Microscope
4 « [Iransmission Electron Microscope

= » Polarizing Microscope



Question Number : 126 Question Id : 9593761626 Question Type: MCQ
Correct: 2 Wrong: 2

In Human Body. Alcohol is oxidized in Liver by which enzyme?
Options:
, % Adenosine Triphosphate

-  Alcohol Dehydrogenase
5 w Glycoside

4 % Toxalbumin

c % Aconite

Question Number : 126 Question Id : 9593761626 Question Type: MCQ
Correct : 2 Wrong: 2

In Human Body. Alcohol is oxidized in Liver by which enzyme?
Options:
, ® Adenosine Triphosphate

- « Alcohol Dehydrogenase
5 = Glycoside

4 % Toxalbumin
c % Aconite

Question Number : 127 Question Id : 9593761627 Question Type: MCQ
Correct: 2 Wrong: 2

Skatole 15 a characteristic odor of:
Options:

. % Sweating

> % Urme

3 « Feces

4 B Saliva

c ® Semen

Question Number : 127 Question Id : 9593761627 Question Type: MCQ
Correct: 2 Wrong: 2

Skatole 15 a characteristic odor of:
Options:
| % Sweatmg

> % Urne
3 « Feces

4 % Saliva



c % Semen

Question Number : 128 Question Id : 9593761628 Question Type: MCQ
Correct: 2 Wrong: 2

Amyl Nitrate 1s used as Antidote for which poisoning?
Options:

, % Mercury Poisoning

» % Carbon dioxide poisoning

-  Cyanide Poisoning

4 % Aconite Poisoning

= w Carbon Monoxide poisoning

Question Number : 128 Question Id : 9593761628 Question Type: MCQ
Correct : 2 Wrong: 2

Amyl Nitrate is used as Antidote for which poisoning?
Options:
, % Mercury Poisoning

-~ % Carbon dioxide poisoning

5 Cyanide Poisoning
4 % <Aconite Poisoning

= % Carbon Monoxide poisoning

Question Number : 129 Question Id : 9593761629 Question Type: MCQ
Correct: 2 Wrong: 2

Sewer gas is:
Options:

1 o H>S

o ® CO:

2% O

4 % CO
% Hg

Question Number : 129 Question Id : 9593761629 Question Type: MCQ
Correct : 2 Wrong: 2

Sewer gas is:
Options:

> #® CO]



3%302

g4 ® CO

ERHg

Question Number : 130 Question Id : 9593761630 Question Type: MCQ
Correct : 2 Wrong: 2

Nerve gas is:
Options:
, % Methyl Isocyanides

> % Methyl Alcohol

- w Phosgene

o,

4 « Sarin

c % Chlorine Gas

Question Number : 130 Question Id : 9593761630 Question Type: MCQ
Correct: 2 Wrong: 2

Nerve gas is:
Options:
, % Methyl Isocyanides

> % Methyl Alcohol

- % Phosgene

4 « Sarin

5 % Chlorine Gas

Question Number : 131 Question 1d : 9593761631 Question Type: MCQ
Correct: 2 Wrong: 2

Polychlorinated hydrocarbon i1s:
Options:
1 « Endrin

# Pralidoxine
MDMA
LSD

2.
=
4.
e PCP

¥ X =

Question Number : 131 Question Id : 9593761631 Question Type: MCQ
Correct: 2 Wrong: 2

Polychlorinated hydrocarbon i1s:
Options:
1 « Endrin



% Pralidoxine
MDMA
LSD

PCP

Mo W I
2 X =

Question Number : 132 Question Id : 9593761632 Question Type: MCQ
Correct: 2 Wrong: 2

Cholinesterase re-activators are ineffective in case of:
Options:
1 % Malathion

5 o Baygon

- % Phosphorus

4 % Aconite

£ % Nux Vomica
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Cholinesterase re-activators are ineffective in case of:
Options:
1 % Malathion

5 « Baygon
5 % Phosphorus

4 % Aconite

c % Nux Vomica

Question Number : 133 Question Id : 9593761633 Question Type: MCQ
Correct: 2 Wrong: 2

A combination of chloral hydrate and alcohol is known as:
Options:
| « Mickey Finn

> % Mickey Mouse
- % Reye's syndrome
, » Rombergs Sign
c % Marques Test
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A combination of chloral hydrate and alcohol is known as:

Options:



 Mickey Finn

~ % Mickey Mouse
5 % Reye's syndrome
4 w Rombergs Sign

c % Marques Test

Question Number : 134 Question Id : 9593761634 Question Type: MCQ
Correct: 2 Wrong: 2

Dry wine is:

Options:

, = Ethyl Alcohol
> % Methyl Alcohol
- « Chloral Hydrate

4 % Isopropyl alcohol

c % Amphetamine
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Dry wine is:
Options:

, w» Ethyl Alcohol

- % Methyl Alcohol

5 o Chloral Hydrate
4 % Isopropyl alcohol

c % Amphetamine

Question Number : 135 Question Id : 9593761635 Question Type: MCQ
Correct: 2 Wrong: 2

Antidote for benzodiazepine poisoning:
Options:
, » Formaldehyde

- % Formic Acid
= % Fluconacozole
4 « Flumazenil

% Formalin
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Antidote for benzodiazepine poisoning:
Options:
, » Formaldehyde

> % Formic Acid
=z % Fluconacozole
4 « Flumazenil

s % Formalin

Question Number : 136 Question Id : 9593761636 Question Type: MCQ
Correct: 2 Wrong: 2

True about MDMA:
Options:

, % Hyosyamine

» Ecstasy is another name for it

2

% Hallucination

i

4 % Ethanol

% It's a cocaine congener

Ln
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True about MDMA:
Options:

, % Hyosyamine

» Ecstasy is another name for it

2

% Hallucination

A

% FEthanol

e

% It's a cocaine congener

Question Number : 137 Question Id ;: 9593761637 Question Type: MCQ
Correct: 2 Wrong: 2

Rave drug is:
Options:
» Methamphetamine

—

% Cocaine

% Cannabis

G -0

% Chloroform

= % Chloral Hydrate
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Correct: 2 Wrong: 2

Rave drug is:

Options:

| Methamphetamine

- % Cocaine
5 % Cannabis
4 % Chloroform

= % Chloral Hydrate

Question Number : 138 Question Id : 9593761638 Question Type: MCQ
Correct: 2 Wrong: 2

Mechanism of action of Botulinum toxin:
Options:
, % Blocks muscarinic receptors in brain

-~ u Post-ganglionic nerves
=  Synthesis of acetylcholine inhibited
, % Neuromuscular junction

= » Pre Ganglionic nerve terminals
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Mechanism of action of Botulinum toxin:
Options:
, w Blocks muscarinic receptors in brain

-~ % Post-ganglionic nerves

. Synthesis of acetylcholine inhibited
% Neuromuscular junction

w Pre Ganglionic nerve terminals

Question Number : 139 Question Id : 9593761639 Question Type: MCQ
Correct: 2 Wrong: 2

Epidemic dropsy is caused by:
Options:
|« Argemone oil

- % Ptomines
= % Nux vomica
4 % Kesari Daal

c % Amaniata Phalloids



Question Number : 139 Question Id : 9593761639 Question Type: MCQ
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Epidemic dropsy is caused by:
Options:
|  Argemone oil

- % Ptomines
= % Nux vomica
4 % Kesari Daal

c % Amaniata Phalloids

Question Number : 140 Question Id : 9593761640 Question Type: MCQ
Correct: 2 Wrong: 2

Strychnine & Brucine are Principal Toxic alkaloids of :
Options:
1 % Snake Venom

o « Strychnous Nux Vomica

5 w Spirit

4 % Aconite

c % Cannabis
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Strychnine & Brucine are Principal Toxic alkaloids of :
Options:
1 % Snake Venom

- « Strychnous Nux Vomica

5 w Spirit

4 % Aconite

c % Cannabis

Question Number : 141 Question Id : 9593761641 Question Type: MCQ
Correct: 2 Wrong: 2

LSD (Lysergamides) also occur naturally in plant:
Options:
, « Moming Glory

> % Evening Glory
= % Wood Sorel
4 % Rhubarb



= % Indian Spinach

Question Number : 141 Question Id ;: 9593761641 Question Type: MCQ
Correct: 2 Wrong: 2

LSD (Lysergamides) also occur naturally in plant:
Options:

, « Moming Glory

» % Evening Glory

=z % Wood Sorel
4 % Rhubarb
= % Indian Spinach

Question Number : 142 Question Id : 9593761642 Question Type: MCQ
Correct: 2 Wrong: 2

‘Mescaline’ a hallucinogenic is present in:
Options:

, % Tranqulizers

» % Canthridine
g Ergot
» Peyote

« Fugus claviceps purpura

'
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‘Mescaline’ a hallucinogenic is present in:
Options:
, % Tranqulizers

> % Canthridine
o % Ergot
4 Peyote

= » Fugus claviceps purpura

Question Number : 143 Question 1d : 9593761643 Question Type: MCQ
Correct: 2 Wrong: 2

What do you mean by Software Piracy?
Options:
1 % Overuse of License

-  Downloading pirate version of software via Internet

= % Under use of License



4 = Software counterfeiting.

. % Use of Software

Question Number : 143 Question Id : 9593761643 Question Type: MCQ
Correct: 2 Wrong: 2

What do you mean by Software Piracy?
Options:
1 % Overuse of License

-  Downloading pirate version of software via Internet

3 % Under use of License

4 = Software counterfeiting.

s % Use of Software

Question Number : 144 Question Id : 9593761644 Question Type: MCQ
Correct: 2 Wrong: 2

Testamentary Capacity means :
Options:

1 % Juvenile Justice Court

-~ » Responsibility towards Crime

- % Capacity to dispose material other than property

, % Capacity to learn langnage

=  Capacity to make a valid will.
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Testamentary Capacity means :
Options:
1 % Juvenile Justice Court

-~ % Responsibility towards Crime

- % Capacity to dispose material other than property
, » Capacity to learn language

=  Capacity to make a valid will.

Question Number : 145 Question Id : 9593761645 Question Type: MCQ
Correct: 2 Wrong: 2

Di-acetyl morphine is also named as:
Options:
1 « Heroin

> % Mandrax



- % Methaquonol
4 » Hyosyamine

£ % Nicotine
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Di-acetyl morphine is also named as:
Options:

1 « Heroin

> % Mandrax

- » Methaquonol
4 % Hyosyamine

£ % Nicotine

Question Number : 146 Question Id : 9593761646 Question Type: MCQ
Correct : 2 Wrong: 2

Exciter filter is a part of the following Microscope:
Options:
, w Phase-contrast microscope

- w Polarizing Microscope
-  Fluorescence microscope
4, % Scanning Electron Microscope

= % Comparison Microscope
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Exciter filter is a part of the following Microscope:
Options:

, w Phase-contrast microscope

-~ % Polarizing Microscope

-  Fluorescence microscope

4 % Scanning Flectron Microscope

= » Comparison Microscope

Question Number : 147 Question Id ;: 9593761647 Question Type: MCQ
Correct: 2 Wrong: 2

Karl-Pearson’s formula used in the determination of:
Options:



« Personality

=

- o Stature
=z # Sex
4 % Intersex

w Age

Ln
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Karl-Pearson’s formula used in the determination of:
Options:

, w Personality

o o Stature

3 ® Sex

4 % Intersex

E % Age

Question Number : 148 Question 1d : 9593761648 Question Type: MCQ
Correct: 2 Wrong: 2

Making false statements under oath amounts to:
Options:

| Perjury

o % Jury

- % Buggery

% Deposition

s # Will
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Making false statements under oath amounts to:
Options:

| Perjury

5 % Jury

- % Buggery
4 % Deposition

c % Will

Question Number : 149 Question Id : 9593761649 Question Type: MCQ
Correct : 2 Wrong: 2

Which of the following drug is known as ‘Date Rape Dings’?



Options:
, % Alprazolam

» % Diazepam

o % Temazepam

4 « Flunitrazepam

c # Fluconakozole
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Which of the following drug is known as ‘Date Rape Diugs’?
Options:
, % Alprazolam

-~ » Diazepam

- % lemazepam

4 « Flunitrazepam

= % Fluconakozole

Question Number : 150 Question Id : 9593761650 Question Type: MCQ
Correct : 2 Wrong: 2

The main ingredients of Mandrax is:

Options:

1 % Mint

-  Methaqualone
- % Methaphatamine
4 % Meprobamate
c % Methanol
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The main ingredients of Mandrax is:

Options:
1 % Mint

-  Methaqualone
- % Methaphatamine
4 % Meprobamate

% Methanol



